



**Vendor Ranking** 

Page 1 of 1

 Letting:
 05211207
 December 07, 2021 2:00 PM Call Order: 007
 Contract:
 E5X00

 District:
 District 5
 Counties:
 ORANGE
 Fed Aid No: N/A

Contract Time: 110 CALENDAR DAYS Project(s): 42916117209

Contract Desc: Stormwater Desilt and Video

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	HORIZON LAND MANAGEMENT COMPANY	Responsive	Winning bid	\$444,213.00	100.00%
2	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$473,022.10	106.49%
3	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$531,050.75	119.55%
4	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$1,131,115.22	254.63%
	DRAINAGE PARTNERS LLC	Non Responsive	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Letting:

### Florida Department of Transportation

12/17/2021

#### **Tabulation of Bids**

Page 1 of 6

**District:** District 5

Counties: ORANGE

Call Order: 007

Fed Aid No: fedprojects

Contract:

Contract Time: 110 CALENDAR DAYS

Counties: ORANGE

**Project(s)**: 42916117209

E5X00

Contract Descr: Stormwater Desilt and Video

05211207

FDOT District 5
Proposal ID: E5X00

Project No.: 429161-1-72-09

Fiscal Year: 2022

County: Orange

Contract Calendar Days: 110

Lead Time: 14 Days

This is a Maintenance Pay Item Project.

INTENT AND SCOPE: Work under this Contract consists of desilting and videoing existing stormwater pipes and associated structures on various State Roads in Orange County.

This project is reserved for Business Development Initiative Bidding.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

December 07, 2021

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.





# **Tabulation of Bids**

Page 2 of 6

**Letting:** 05211207 December 07, 2021

Call Order: 007

Contract: E5X00

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Alternat	e Quantity Units	(1) HORIZON LAND MANAGEMENT COMPANY		(2) FLOTECH ENVIRONMENTAL LLC		(3) WRANGLER CONSTRUCTION INC.	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005 0101 1 MOBILIZATION	(1.000) LS	2,000.00000	2,000.00	1.00000	1.00	56,000.00000	56,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	95,460.00000	95,460.00	1.00000	1.00	5,000.00000	5,000.00
0015 E430 94 1 DESILT PIPE, 0 to 24"	53,149.000 LF	2.00000	106,298.00	3.40000	180,706.60	1.30000	69,093.70
0020 E430 94 2 DESILT PIPE, 25-36"	26,068.000 LF	3.50000	91,238.00	4.00000	104,272.00	3.10000	80,810.80
0025 E430 94 3 DESILT PIPE, 37-48"	8,269.000 LF	4.00000	33,076.00	6.10000	50,440.90	6.25000	51,681.25
0030 E430 94 4 DESILT PIPE, 49-60"	3,005.000 LF	7.00000	21,035.00	11.00000	33,055.00	11.25000	33,806.25
0035 E430 94 5 DESILT PIPE, 61" OR GREATER	355.000 LF	12.00000	4,260.00	13.00000	4,615.00	21.25000	7,543.75
0040 E432 4 STORM SEWER INSPECTION (VID CAMERA)	90,846.000 EO LF	1.00000	90,846.00	1.10000	99,930.60	2.50000	227,115.00



12/17/2021

### **Tabulation of Bids**

Page 3 of 6

Letting:	05211207	December 07,	2021 <b>C</b> a	all Order: 007	Contract: E5X00			
Line No / Item		e Quantity Units	` '	ZON LAND NT COMPANY	(2) FLOTECH ENVIRONMENTAL LLC		(3) WRANGLER CONSTRUCTION INC.	
•	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (CLEAN DRAINAGE STRUCTURES (LF

0001 CLEAN DRAINAGE Section Totals: \$444,213.00 \$473,022.10 \$531,050.75

STRUCTURES (LF)

Contract Grand Totals:	\$444,213.00	\$473,022.10	531,050.75





# **Tabulation of Bids**

Page 4 of 6

Letting	<b>g:</b> 052	11207 D	ecember 07,	2021 <b>Cal</b>	l Order: 007		Contract:	E5X00	
	No / Item ID Description	Alternate	Quantity Units	(4) MAER H	OMES, LLC				
() inc	dicates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	0001 (	CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0005 MOBILIZ	0101 1 ZATION		(1.000) LS	104,011.22000	104,011.22				
0010 MAINTE	0102 1 ENANCE OF TRA	AFFIC	(1.000) DA (LS)	55,000.00000	55,000.00				
0015 DESILT	E430 94 1 PIPE, 0 to 24"		53,149.000 LF	6.00000	318,894.00				
0020 DESILT	E430 94 2 PIPE, 25-36"		26,068.000 LF	9.00000	234,612.00				
0025 DESILT	E430 94 3 PIPE, 37-48"		8,269.000 LF	10.00000	82,690.00				
0030 DESILT	E430 94 4 PIPE, 49-60"		3,005.000 LF	14.00000	42,070.00				
0035 DESILT	E430 94 5 PIPE, 61" OR G	REATER	355.000 LF	60.00000	21,300.00				
0040 STORM CAMER	E432 4 SEWER INSPE A)	CTION (VIDEC	90,846.000 LF	3.00000	272,538.00				



12/17/2021

# **Tabulation of Bids**

Page 5 of 6

Letting:	05211207	December 07,	2021 <b>C</b>	all Order: 007		Contract:	E5X00		
Line No / Item I		ate Quantity Units	(4) MAER I	HOMES, LLC					
•	s bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	

SECTION: 0001 (CLEAN DRAINAGE STRUCTURES (LF

0001 CLEAN DRAINAGE Section Totals: \$1,131,115.22

STRUCTURES (LF)

Contract Grand Totals: \$1,131,115.22



12/17/2021

### **Tabulation of Bids**

Page 6 of 6

**Letting:** 05211207 December 07, 2021 **Call Order:** 007 **Contract:** E5X00

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.